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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 12930 3.2 1.4 5 63.9 99.8
2 12697 2.1 1.5 5 42.6 98
3 12721 3 2 6 49.7 98.2
4 12287 0.3 0.6 2 16.3 94.8
5 12824 4.9 2.2 7 69.8 99
6 12931 2.6 1.4 4 64.3 99.8
7 12120 0.7 1.2 3 24.7 93.5
8 12869 0.8 0.9 2 37.9 99.3
9 12825 3.3 1.6 6 54.4 99
10 11870 1.2 1.3 3 41.5 91.6
11 11980 1.1 1.1 3 38 92.5
12 12938 33 1.7 7 47.2 99.8
13 12766 3.7 2.5 7 53.3 98.5
14 12703 2.5 1.9 5 51 98
15 11719 2.1 2.7 8 26.1 90.4
16 12719 1.9 2.2 8 23.3 98.2
17 11961 1.1 1.4 5 22.9 92.3
18 12305 1.5 2.1 8 18.6 95
19 12475 1.3 2.1 6 21.1 96.3
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(a) Calculate the scale of the map, giving your answer in the form % 4. . 2.0











(a) Calculate the scale of the map, giving your answer in the form 1 : AV,

s oGSO SRR











2(a) 1 cm represents either
25km or

25000m or 2 500 000cm

1:2 500000

M1

Al

Do not accept 4 cm represents 100 km (given in question)
An answer of 1 : 25 1s M0 (and AQ) however allow 1 : 25 ki
for M1

1:2.5 mllion

Allow 1: 2 500 000¢cm (must be within a ratio)











(8) Calculate the scale of the map, giving your answer in the form 1 4. ..




Sticky Note

Unfortunately there is no mention of units.
No marks are awarded.
Had the candidate written 25km M1 could be awarded










(a) Calculate the scale of the map, giving your answer in the form % 4. . 2.0




Sticky Note

Here M1 can be awarded, although the candidate has not converted km to cm to give the answer in the required form.










(a) Calculate the scale of the map, giving your answer in the form 1 : AV,

s oGSO SRR




Sticky Note

Here, the candidate attempts to change units, but is thinking they are working in cm, when perhaps it may be metres?  Not clear, it could be they incorrectly think 1000 cm in 1 km?
No correct units are given, so it is not possible to award any marks for working.










The map below shows a route from Edinburgh to Dundee.

Montrose

Dundee

Edinburgh

The route from Edinburgh to Dundee is approximately 4cm on the map.

The actual journey is approximately 100 kilometres.

(@) Calculate the scale of the map, giving your answer in the form 1 : ...











(b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.

Calculate the average speed of this journey.
Give your answer in kilometres per hour.











{b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.
Calculate the average speed of this journey.
Give your answer in kilometres per hour.











(b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.
Calculate the average speed of this journey.
Give your answer in kilometres per hour. (3]

s tance. s ...5..9&.5,@...... el o L

.......











2(b) 100/ 2hr 30 min or 200 km in 5 hours M1 Accept time written incorrectly, for the idea distance /time,

e.g. 100/2.3, 100/150
100/2.5 or 200/5 ml Alternatively M1, ml for 20km in 30 minutes
40 (kan/h) Al Sight of 40 irrespective of units given

©WIEC CBAC Ltd










(b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.

Calculate the average speed of this journey.
Give your answer in kilometres per hour.




Sticky Note

A correct response.
The method used is division.
M1, m1, A1 awarded










{b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.
Calculate the average speed of this journey.
Give your answer in kilometres per hour.




Sticky Note

A correct response.
The candidate uses logic to work out how far is travelled in 1 hour, 2 hours, and 2 hours 30 minutes. Although they state 100 km is 30 minutes, it is clear thinking that leads to a correct response.  The candidate is using addition of times, with '100 - 30 mins' being a slip in notation.
M1, m1, A1 is awarded.










(b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.
Calculate the average speed of this journey.
Give your answer in kilometres per hour. (3]

s tance. s ...5..9&.5,@...... el o L

.......




Sticky Note

The intention here is to divide the distance, 100 km, by the time, 150 minutes.  However, the question asked for kilometres per hour, not km per minute.
The answer seems to be a result of 'time divided by distance', a misunderstanding of fractional notation.
This candidate has a number of misconceptions.
No marks are awarded.










{b) The journey from Edinburgh to Dundee takes 2 hours 30 minutes by car.
Calculate the average speed of this journey.
Give your answer in Kilometres per hour. [3]
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2015 Summer Linear Paper 1
Higher Tier

Comments

5. For spoons: sight of 450+180 OR
sight of 450 split as 360, 90 or 180, 180, 90

(Machine stopped at) 11(:)30 (am)

For forks: 240 x25 OR
240+60 = 4 (forks per minute) and (4)x 150 or equivalent
600 (forks)
Look for:

e  Appropriate labelling of calculations, e.g.
‘number of spoons’, ‘time to produce 450
spoons’, ‘number of spoons produced in 10
minutes’, ‘number of forks produced’, etc

e  Time written correctly, 11(:)30 (am)

QWC2: Candidates will be expected to
e  present work clearly, maybe with diagrams and
words explaining process or steps
AND
e make few if any mistakes in mathematical form,
spelling, punctuation and grammar and include
units in their final answer

QWC1.: Candidates will be expected to
e  present work clearly, maybe with diagrams and
words explaining process or steps
OR
e make few if any mistakes in mathematical form,
spelling, punctuation and grammar and include
units in their final answer

M1

A2

M1

Al

QWC

OR 3(spoons per min) or 30(spoons in) 10 mins

Al for 2.5 (hours) or 2 hours 30 minutes or 150 minutes
For Al allow poor or incorrect notation of time, e.g. 2.3 hrs

FT ‘their 2.5 hours’ or ‘their 150 minutes’

FT ‘their 2.5 hours’ provided not a whole number or ‘their
150 minutes’ provided not a multiple of 60

Alternative if the time period is not considered
(for max 3 marks):

M1 for an attempt to find the multiplier180 % ...
e.g. 18:24 and 450+18 (=25),

M1 for a final calculation that could lead to a correct
answer, e.g. applying the multiplier to the right hand side of
their ratio, for attempt 24x450+18

Al for 600 forks

=450,

QWC2 Presents relevant material in a coherent and logical
manner, using acceptable mathematical form, and with few if
any errors in spelling, punctuation and grammar.

QWC1 Presents relevant material in a coherent and logical
manner but with some errors in use of mathematical form,
spelling, punctuation or grammar

OR

evident weaknesses in organisation of material but using
acceptable mathematical form, with few if any errors in
spelling, punctuation and grammar.

QWCO Evident weaknesses in organisation of material, and
errors in use of mathematical form, spelling, punctuation or
grammar.
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Sticky Note

The candidate is working in blocks of 1 hour time periods, then breaks it down to a half hour, to correctly find the time stopped, 11 30 a.m.
The candidate uses the same method with the forks, looking at the time blocks initially of 1 hour, then a half hour.
The work is clearly shown, with all stages and each section labelled.  A well organised answer for the method used.
All 7 marks are awarded, M1, A2, M1, A1 and QWC2.
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Sticky Note

A similar method to the previous example has been used, although time is blocked in 2 hour and half hour periods.  Clearly the same method is used to find the number of forks in the same period.
Both required answers are clearly stated.
All 7 marks are awarded, M1, A2, M1, A1 and QWC2 for the organisation and writing..
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Sticky Note

Blocking time in hours and half hours is the most common method seen.
Often leading to correct answers, provided calculations are accurate.
Candidates were also able to show workings and label sections of their work.
All 7 marks are awarded, M1, A2, M1, A1 and for the the organisation and writing QWC2 is awarded.










5. You will be assessed on the quality of your written communication in this question.

In a factory there are two machines.
Machine A makes plastic spoons and Machine B makes plastic forks.
Both machines work at a steady rate.

Machine A makes 180 plastic spoons per hour. r‘

Machine B makes 240 plastic forks per hour. \-—Q

Both machines start their production on a Monday morning at 9 a.m.
Both machines are stopped for maintenance after 450 spoons have been produced.
Calculate
* the time at which the machines were stopped for maintenance
* the number of forks produced between 9 a.m. and the time the machines were stopped
for maintenance. [7]











Express your answer as a mi

(3]

S "'2%;3"











Express your answer as a mixed number in its simplest form. (3]




Sticky Note

The candidate is working with 1/8s, and understands mixed numbers.



Sticky Note

M1, m1, A1 is awarded.




Sticky Note

A correct response.










Express your answer as a mixed number in its simplest form.

(3]
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Express your answer as a mixed number in its simplest form. [3]

O 7
(u &Y. +<%*‘“”6> R

BN SN -
WA I, T T T o




Sticky Note

The candidate converts both fractions into improper fractions.
Instead of looking then at 1/8s, they decide a common denominator will be 1/4s.
But ignores this, incorrectly deciding to add numerators of fractions written in 1/4s and 1/8s.
B1 is awarded for 19/4 + 19/8.










Express your answer as a mixed number in its simplest form. [3]











Express your answer as a mixed number in its simplest form. [3]




Sticky Note

Round the houses of improper fractions and back to the mixed numbers in 1/8s, not accurately though!
The 4 3/4 given is not 4 2/8, so an incorrect response.  No sight of a common denominator from 38/8 + 19/8
B1, B0, B0 is awarded, as the candidate did get as far as common denominator improper fractions correctly.























Sticky Note

The correct volume is calculated.
And correct units are given.
M1, A1 is awarded.
Unfortunately no comparison with 5 litres is shown.










You must show your working and give a reason for your answer.

el og e A= Tr* =3 x4%
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You must show your working and give a reason for your answer.

el og e A= Tr* =3 x4%
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Sticky Note

480 centimetres cubed, incorrectly written here as cm, is not converted to litres correctly.
Division by 100 is incorrect, it should be division by 1000.
M1, A1 is awarded, but E0, as the units for the comparison needed to be correct.










You must show your working and give a reason for your answer. [3]











You must show your working and give a reason for your answer. [3]




Sticky Note

Incorrect volume formula, 48 should be multiplied by 10 not divided by 10, or was that the candidates attempt at conversion of units?
M0, A0, E0 is awarded.










17. (a) Express 0:346 as a fraction. 2]
o \O0x =3 . uG. ... o
__________________________________ 000 =346 Wi
...................... | QQ.Q..:L lO':r_ -
____________________________________________ 3._..L.; .











17. (a) Express 0:346 as a fraction. 21
................................. 1O =R . Wl
000 = 3UG . bl o

...................... 000x-\Ox
P = AUD R




Sticky Note

A correct response.
M1, A1 is awarded.










17. (a) Express 0-346 as a fraction. [21

______ G = 3, 4¢ 1000 =.3%6. ¢6.
K00, =L O5C

LGP T -











17. (a) Express 0346 as a fraction.

000 ~(Ose
=900 =343 .

(00Ce = 3%6. 66

2]




Sticky Note

Unfortunately 1000 - 10 has incorrectly become 900.
A common slip seen.
M1, A0 is awarded.










17. (a) Express 0-346 as a fraction. 2











17. (a) Express 0-346 as a fraction. 2




Sticky Note

1000 - 10 is calculated correctly.
But the candidate has omitted to work with 0.3464646... correctly.










9. (a Find the integer that satisfies the equation x* - 2x = 2I.














Sticky Note

A correct answer from trial and improvement.
B2 is awarded.










9. (a) Find the integer that satisfies the equation x? - 2x = 21.
You must show all your working. [2]











9. (a) Find the integer that satisfies the equation x? - 2x = 21.
You must show all your working. [2]




Sticky Note

Unfortunately the candidate has not found the correct value and their substituted value, 4, has not led to a correct evaluation.
A correct idea, but insufficient work for any marks to be awarded.
B0 is awarded.










(a) Find the integer that satisfies the equation x* — 2x = 21.
You must show all your working. [2]











{a) Find the integer that satisfies the equation x* — 2x = 21.
You must show all your working.




Sticky Note

The candidate notices a common factor on the left hand side.
But their strategy does not lead them to a solution, by possible trials.
B0 is awarded.










A+2 +6/8+3/8 or

or 38+19
8 8
6 /s

Bl

Bl

Bl

For Bl allow 28.5/4 or 7.125 or 7°°/,

Or equvalent, e.g. 114/16 or 228/32, etc.

FT from 1 error in the calculation of 1 of the numerators
provided the denominators are common

If no marks, allow SC1 for an answer of 14 from %i+%s

© WIEC CBACLtd







Exarniner

only
10. A mixed number is a whole number with a fraction.

43 and 2 3 are mixed numbers.

3 3
Evaluate 44— + 2 g -

Express your answer as a mixed number in its simplest form. [3]







11. Volume = mx4“x10 or 3x4°x10
4R0(em®)

Conclusion, ¢.g. ‘incorrect as it is approximately (0).48
litres’, “no he is wrong it holds about 480cm’ not
5000em™, ‘no he is incorrect as it is 4520cm’ difference’

M1
Al

El

ISW (change of units). Ignore units given for Al, but they
must be correct in order to award E1

‘No’ or ‘incorrect’ may be implied. The reason must be
showing comparison (like units), e.g. 0.48(0) (with 5 litres),
or 480 with 5000 (cm?), or 480cm? approximately 500cm?
with 5000em’

FT “their 480 (cm?)’ provided M1 awardad and “their 480"
has dimensionally correct units for comparison with 5 litres







11. A hollow cylinder is made with an internal radius of 4cm and an internal height of 10cm.

10cm

Diagram not drawn to scale

Carwyn says
‘This cylinder holds approximately 5 litres of liquid.

By estimating w as 3, show whether Carwyn is correct or not.

You must show your working and give a reason for your answer. [3]











17(a) Attempt to subtract 10x=3.4646.. from 1000x = M1 Or equvalent for 100x=34.646.. and x =0.34646..
346.46... or alternative method
343/990 Al Final answer of 34.3/99 M1 only
17(b) 49 - 3572 -35"2 + 50 Bl
=099 7042 B1 FT correctly simplified (equivalent level of difficulty)
provided at least 3 of the terms are correct OR
49 a2 + 50 with a#0
Irrational El Depends on “their answer” including a surd and at least B1

previously awarded







17. (a) Express 0-346 as a fraction. [2]







9a) (x=)3

B2

Accept embedded answers for B2 or Bl
B1 for one correct evaluated trial (excluding x=0)

X X3 - 2x
1 -1
2 4
3 21
4 56

Bl for 27 — 6 =21 without showing an embedded x =3 or
giving an answer x =3 and x = -3







(a) Find the integer that satisfies the equation x3 —2x = 21.
You must show all your working. [2]












